  BLM 7–7  
Chapter 7 BLM Answers
Section 7.1 Extra Practice

1. y  0.5x and y  4x  are exponential since they are functions in the form y  cx, where c is a constant greater than 0 and x is a variable.
2. No. The constant is not a value greater than zero, so the graph is not a continuous decreasing or increasing function.
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x-intercept: does not exist, y-intercept: 1;
function is increasing;
domain:{x | x ( R}, range: {y | y  0, y ( R};
y  0
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x-intercept: does not exist, y-intercept: 1;
function is decreasing;
domain: {x | x ( R}, range: {y | y  0, y ( R};
y  0
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   b) y  6x   c) y  2x   d) 
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6. 50 kPa
7. a) P(t)  200(0.80)t
  BLM 7–7  
(continued)
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9. a) 
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10. a) L(d)  (0.98)d
b) domain: {d | d ( 0, d ( R}, range: {L | 0 < L ( 1,
L ( R}
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d) 114 m (use graph)
BLM 7–3 Section 7.2 Extra Practice

1. a) A   b) B   c) E   d) H

2. a) C   b) A   c) D   d) B
3. 
	y  5x
	y  5x
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	(0, 1)
	(0, 1)
	
[image: image18.wmf]1

2

0,

æö

-

èø


	
[image: image19.wmf]1

2

4,6

æö

--

èø



	(1, 5)
	(1, 5)
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	(2, 25)
	(2, 25)
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	4. a)
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5. a) y  3(0.5)(x  4)  3

b) y  (3)2x  7
c) y  4(2)2(x  3)  5

d) 
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  BLM 7–7  
(continued)
6. a) domain: {x | x ( R}, range: {y | y  2, y ( R};

y  2; x-intercept  (1, 0), y-intercept (0, 4)

b) domain: {x | x ( R}, range: {y | y  4, y ( R};
y  4; x-intercept (0.75, 0), y-intercept (0, 3.5)

c) domain: {x | x ( R}, range: {y | y  0, y ( R};
y  0; x-intercept does not exist, y-intercept (0, 2)

7. a) a  0.5, b  2, h  4, k  7

b) vertical stretch by a factor of 0.5, a reflection over the y-axis, a horizontal stretch by a factor of 
[image: image28.wmf]1

2

, a horizontal translation 4 units left, and a vertical translation 7 units up

c) (0, 1) becomes (4, 7.5), (1, 3) becomes (4.5, 8.5), (2, 9) becomes (5, 11.5)

8. a) 1.024
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c) (39 400 (exactly 39 406)
	


9. a)
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b) (5 lb/in.2 (exactly 4.8 lb/in.2)

BLM 7–4 Section 7.3 Extra Practice

1. a) 21   b) 
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2. a) 52 and 53   b) 33 and 
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c) 22 and 23   d) 
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3. a) 0.5 or 
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b) 3
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c) 17
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d) 
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5. a) 15.90
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  BLM 7–7  
(continued)

b) 1.77
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c) 6.84
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d) –0.76
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6. a) V  3000(1.026)2t
b) V  2500(1.01)4t
c) V  8000(1.005)12t
d) V  6300(1.021)t
7. 6.55 years

8. a) $4264.41   b) 14.04 years

9. a) $15 817.96   b) 16.63 years

10. a) $6040   b) $6099.95
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